
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

1st Month, 1st Week, 1st  Day Sub-domain (i) Exercise 1.1 Complete

Q.1. Choose the correct options.            (1x 4 = 4) 
(i) Correct ascending order is: 
(a) 10028, 100026, 110028, 110027 (b) 100026, 10028, 110028, 110027

(c) 10028, 100026, 110027, 110028 (d) 110027, 110028, 100026, 10028

(ii) Correct descending order is: 
(a) 503, 556, 530, -563 (b) -563, 503, 530, 556

(c) 556, -563, 503, 530 (d) 556, -563, 530, 503

(iii)  Which of the following option is true? 

(a) 120.08<130.80<120.80<120.01 (b) 120.01<120.08<120.80<130.80

(c) 130.80<120.08<120.01<120.80 (d) 120.80<120.01<120.08<120.01

(iv)  Correct option from the following is ______:


(a) -137<-138<-1886<1308 (b) -138<-137<1308<-1886

(c) -1886<1308<-138<-137 (d) -1886<-138<-137<1308

 Answer the following questions:  
Q.2. Represent the following on number line. (1x2=2)


(i) -50, 60, -25, -70, -10, -35, 45

(ii) -15.5, 20.7, 11.2, -10.5, -12.5

Q.3. Write the following in ascending and descending order. (1x2=2)


(i) 578901, 579803, 679807, 679817

(ii) 562389, 562399, 572390, 572381

Q.4. Compare the following by using symbols <, >:   (1x2=2)

 <, >

(i) 28.356, 28.343, 28.357, 28.532

(ii) 131.01, 131.08, 103.78, 113.08
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